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e, SEBE £ 5+E £ 5+VI0 £ 5+EEVIO EDH VIOD
IZF LY=o 68,200/ 129,800 68,200 129,800 — —
TCBER R RERI 198,000 298,000 298,000 389,000/ 102,000F 48,000/
MEERIU=Y 6[E: 77,400/ — — 60155700/ | 6[E:40,800F | 6[E:54,000M
HIT LRI O, — - — 49,000/ 49,0001
SRR RIYZ Y 330,000/ — 363,000/ — 69,300 64,900
N—kSA4THY =% — — — — 6[E:205,200/ | 6[:167,400M
SRAFAANIY= Y 354 6081 :518,400 — — — 6[E:156,600M | 6[:205,200M
DR 550,000/ — — — 71,500/ 18 : 44,000
ELDRESRIY=yY 437,800/ — - - 60@:79,200M | 6[E: 148,500
HY=yh FaylAa — — — — — 1[:19,250M
PEERER Y=Y 431,200M — 519,200/ — 1[E:19,800F | 1[E:33,000/1
AYLRIY=wY — — 1[]:330,000M-2 — 1[E:29,700M | 1[E:24,200M-2
T=2=RI89)=vy — — — — 1[8]: 16,500 *1 1[8]: 26,4001
EAT=0)=vy — - — — — 1[8]: 27,5001
NS A TIE R D) 1[: 10,0003 - - - 1[E:22,000Ms | 1[E:27,500M"s
DADLE 5 — — - — 6E:92,400M | 6[E:118,200M
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